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35. You are given: 
 

(i) 0.01,x t     0 5 t  

 
(ii) 0.02,x t     5 t  

 
(iii)   0 06.  
 
Calculate ax . 
 
 
(A) 12.5 

 
(B) 13.0 

 
(C) 13.4 

 
(D) 13.9 

 
(E) 14.3 
 
 

36. For a double decrement table, you are given: 

(i)  1 0.2' xq   

 

(ii)  2 0.3' xq   

 
(iii) Each decrement is uniformly distributed over each year of age in the double 

decrement table. 
 

Calculate 0 3 0 1
1

. .qx
b g . 

 
 
(A) 0.020 

 
(B) 0.031 

 
(C) 0.042 

 
(D) 0.053 

 
(E) 0.064 
 


